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1. An object is raised from the surface of Earth to a height of two Earth radii

above Earth. Then:
(A) itsmassincreases and its weight remains constant.

(B) bothits mass and weight remain constant.

(C) itsmass remains constant and its weight decreases.
(D) both its mass and its weight decrease.

(E) itsmass remains constant and its weight increases.

2. The mass of an object:
(A) isdifferent at different locations on Earth.

(B) isavector.

(C) isindependent of the acceleration due to gravity.

(D) isdependent of the acceleration due to gravity.

(E) can be measured directly and accurately on a spring scale.
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